N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[%] n n

Q o @

o = 2

S 3 g

o ° a 10

(=] =1 (o]

£ = =

X (2] <

[S] c Q

© o ©

= o =

= o] = >
12 10

10

o = 3 = = F i -
5 5 : g s F ([IERMNE
: I : A 111
1 g |||||| 1 H: e i b ””H |
0?_50—2 10—1 1 10 102 OiB—Z 10—1 1 10 102 09—530 —20 _10 O 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
12 %] 2
ol k) o
= [3} =
kel b= hel
2 N i}
%] X %]
c Q o
8 g 8
o} [ o}
24 14
9 : 1 ] A I T T NN I ]
T : 1 s b E FEEEEeE B ot
$l | S 1 R
: E T |||||||| 1
30 -20 -10 0 10 20 30 0¥ =15 -10 -5 0 5 10 15 20 050 -15-10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


